Examination, December-2015

ADVANCED COMPUTER ARCHITECTURE
Paper—-CSE-401-F
Time allowed : 3 hours] [Maximum marks : 100

Before answering ';t‘he questions, candidates should
ensure that they have been supplied the correct and
complete question paper. No complaint in this regard,
will be entertained after the examination. ‘ ;

Note: Attempt five questions. Question No. 1 is
compulsory. Select one question from each section.

1. (a) Whatare the basic data type ? Explain briefly.
{b) Whatis Split-I and D-caches ?
(d) What is vector processor ?
(e) Whatistwo level cache ?

Section—-A

. iameter o cm and costs

5000 for a particular production run. Compute the
cost per die for die area =2.3 cm? and for 1 cm?if
p, = ldefect/cm?.

(b) Explain processor evaluation matrix.

24487-P-3-Q-9(15) N [P.T.O.
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